Non-Vehicular Source Fees Fiscal Year 2015-2016

Facilities

Facilities ID	District	Feepayer	2013 Emissions (Tons)	\$ Per Ton Fee *	Fee
11	Bay Area AQMD	Shell Martinez Refinery	4,269	\$289.18	\$1,234,509
17	Bay Area AQMD	Lehigh Southwest Cement Company	3,082	\$289.18	\$891,253
10	Bay Area AQMD	Chevron Products Company	2,840	\$289.18	\$821,271
14628	Bay Area AQMD	Tesoro Refining & Marketing Company	1,973	\$289.18	\$570,552
12626	Bay Area AQMD	Valero Refining Company - California	1,287	\$289.18	\$372,175
21360	Bay Area AQMD	Phillips 66 Carbon Plant	1,242	\$289.18	\$359,162
21359	Bay Area AQMD	Phillips 66 Company - San Francisco	955	\$289.18	\$276,167
11661	Bay Area AQMD	Solvay USA Incorporated	324	\$289.18	\$93,694
30	Bay Area AQMD	Owens-Brockway Glass Container	274	\$289.18	\$79,235
9	Eastern Kern APCD	California Portland Cement Company	2,617	\$289.18	\$756,784
21	Eastern Kern APCD	National Cement Company	1,105	\$289.18	\$319,544
20	Eastern Kern APCD	Lehigh Southwest Cement Company	756	\$289.18	\$218,620
11800001	Mojave Desert AQMD	Mitsubishi Cement	2,772	\$289.18	\$801,607
100005	Mojave Desert AQMD	Cemex - Black Mountain Quarry	2,456	\$289.18	\$710,226
1200003	Mojave Desert AQMD	Riverside Cement Company	1,613	\$289.18	\$466,447
900002	,	Searles Valley Mineral	1,566	\$289.18	\$452,856
3100068	Mojave Desert AQMD	Southern California Gas - South Needles	867	\$289.18	\$250,719
3101437	,	Southern California Gas Company - Blythe	350	\$289.18	\$101,213
970	North Coast Unified AQMD	Humboldt Redwood Company - Sawmill	269	\$289.18	\$77,789
3	Northern Sierra AQMD	Sierra Pacific Industries	319	\$289.18	\$92,248
477	San Joaquin Valley Unified APCD	Pilkington North America, Incorporated	551	\$289.18	\$159,338
593	San Joaquin Valley Unified APCD	Owens-Brockway Glass Container	347	\$289.18	\$100,345
948	San Joaquin Valley Unified APCD	PPG Industries	334	\$289.18	\$96,586
2073	San Joaquin Valley Unified APCD	Covanta Stanislaus, Incorporated	325	\$289.18	\$93,984

Facilities ID	District	Feepayer	2013 Emissions (Tons)	\$ Per Ton Fee *	Fee
801	San Joaquin Valley Unified APCD	Ardagh Glass Inc.	308	\$289.18	\$89,067
598	San Joaquin Valley Unified APCD	Guardian Industries Corporation	284	\$289.18	\$82,127
1662	San Joaquin Valley Unified APCD	Gallo Glass Company	268	\$289.18	\$77,500
2234	San Joaquin Valley Unified APCD	California Resources Elk Hills, LLC	255	\$289.18	\$73,741
1547	San Joaquin Valley Unified APCD	Aera Energy LLC	253	\$289.18	\$73,163
43	Shasta County AQMD	Wheelabrator Shasta	536	\$289.18	\$155,000
2	Shasta County AQMD	Lehigh Southwest Cement Company	461	\$289.18	\$133,312
800089	South Coast AQMD	Exxon Mobil Oil Corporation	2,148	\$289.18	\$621,159
174655	South Coast AQMD	Tesoro Refining and Marketing Co, LLC - Carson	1,834	\$289.18	\$530,356
800030	South Coast AQMD	Chevron Products Company	1,346	\$289.18	\$389,236
800436	South Coast AQMD	Tesoro Refining and Marketing Co, LLC	642	\$289.18	\$185,654
171109	South Coast AQMD	Phillips 66 Company - Los Angeles Refinery	633	\$289.18	\$183,051
171107	South Coast AQMD	Phillips 66 Company - LA Refinery Wilmington	580	\$289.18	\$167,724
44577	South Coast AQMD	Long Beach City, SERRF Project	311	\$289.18	\$89,935
174591	South Coast AQMD	Tesoro Refining and Marketing Co, LLC - Wilmington	300	\$289.18	\$86,754
800026	South Coast AQMD	Ultramar, Incorporated	263	\$289.18	\$76,054
Total			12 01 5		12 /10 160

Total 42,915 12,410,160

<u>Legend</u>

AQMD: Air Quality Management District
APCD: Air Pollution Control District

^{* 289.18 = \$213.57} Base Fee + \$75.61 Supplemental Fee

Non-Vehicular Source Fees Fiscal Year 2015-2016

Architectural Coatings

Fee Payer	2013 VOC	\$ Per Ton Fee	Fee
_	Emissions (Tons)		
Ace Hardware Corporation	317	\$213.57	\$67,701.69
Behr Process Corporation	617	\$213.57	\$131,772.69
Benjamin Moore & Company	835	\$213.57	\$178,330.95
Dunn-Edwards Corporation	645	\$213.57	\$137,752.65
Frazee Industries	463	\$213.57	\$98,882.91
Henry Company	381	\$213.57	\$81,370.17
Kelly-Moore Paint Company	690	\$213.57	\$147,363.30
Incorporated			
PPG Architectural Finishes Incorporated	1,380	\$213.57	\$294,726.60
Rust-Oleum Corporation*	1,843	\$213.57	\$393,609.51
Sherwin-Williams Company	2,232	\$213.57	\$476.688.24
Stoncor Group Incorporated*	154	\$213.57	\$32,889.78
Tremco Incorporated*	175	\$213.57	\$37,374.75
Valspar Corporation	293	\$213.57	\$62,576.01
Total	10,025		\$2,141,039.25

* Part of RPM International, Inc., but billed directly

Non-Vehicular Source Fees Fiscal Year 2015-2016

Consumer Products

Feepayer	2013 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
3M Company	562	\$213.57	\$120,026.34
3M Company (for Bondo Corporation)	34	\$213.57	\$7,261.38
Aervoe Industries, Incorporated	299	\$213.57	\$63,857.43
Bayer HealthCare; Consumer Health	271	\$213.57	\$57,877.47
Chemical Specialties Manufacturing Corporation (Legend Brands)	24	\$213.57	\$5,125.68
Church & Dwight Company, Incorporated	274	\$213.57	\$58,518.18
Coty, Incorporated	414	\$213.57	\$88,417.98
CRC Industries, Incorporated	298	\$213.57	\$63,643.86
CVS Health	413	\$213.57	\$88,204.41
DAP Products, Incorporated	114	\$213.57	\$24,346.98
Diversey, Incorporated	683	\$213.57	\$145,868.31
Ecolab	445	\$213.57	\$95,038.65
Gojo Industries, Incorporated	567	\$213.57	\$121,094.19
Henkel Corporation (for Henkel of America)	427	\$213.57	\$91,194.39
ITW Evercoat	94	\$213.57	\$20,075.58
ITW Global Brands	232	\$213.57	\$49,548.24
ITW Polymer Sealants North America	1	\$213.57	\$213.57
ITW Pro Brands	9	\$213.57	\$1,922.13
ITW Pro Brands (formerly LPS Laboratories)	31	\$213.57	\$6,620.67
ITW Professional Automotive Products	7	\$213.57	\$1,494.99
ITW Texwipe	15	\$213.57	\$3,203.55
Kay Chemical Company	60	\$213.57	\$12,814.20
Kop-Coat, Incorporated	1	\$213.57	\$213.57
L'Oreal USA	808	\$213.57	\$172,564.56
Mast Global	504	\$213.57	\$107,639.28
Newell Rubbermaid	287	\$213.57	\$61,294.59
Permatex, Incorporated	91	\$213.57	\$19,434.87
Personal Care Products, LLC	311	\$213.57	\$66,420.27

Feepayer	2013 VOC Emissions (Tons)	\$ Per Ton Fee	Fee
PL Developments (for Aaron Industries)	409	\$213.57	\$87,350.13
Reckitt Benckiser LLC	3,531	\$213.57	\$754,115.67
RPM Wood Finishes Group, Incorporated	35	\$213.57	\$7,474.95
Rust-Oleum Corporation	2,466	\$213.57	\$526,663.62
S.C. Johnson & Son, Incorporated	2,244	\$213.57	\$479,251.08
Safeway, Incorporated	400	\$213.57	\$85,428.00
SSDC, Incorporated	1	\$213.57	\$213.57
Target Corporation	305	\$213.57	\$65,138.85
The Clorox Company	814	\$213.57	\$173,845.98
The Procter & Gamble Distributing Company LLC	5,160	\$213.57	\$1,102,021.20
The Sherwin-Williams Company	2,662	\$213.57	\$568,523.34
The Testor Corporation dba Rustoleum Corporation	27	\$213.57	\$5,766.39
The Valspar Corporation	294	\$213.57	\$62,789.58
The Valspar Corporation, Consumer Division	5	\$213.57	\$1,067.85
The Valspar Corporation, Engineered Polymer Solutions Division	1	\$213.57	\$213.57
Unilever Personal Care-North America	2,382	\$213.57	\$508,723.74
Unilever Personal Care-North America (for Alberto-Culver USA, Incorporated)	658	\$213.57	\$140,529.06
United Industries Corporation	487	\$213.57	\$104,008.59
Victoria's Secret Beauty Company	392	\$213.57	\$83,719.44
Vi-Jon, Incorporated	301	\$213.57	\$64,284.57
W.M. Barr and Company, Incorporated	547	\$213.57	\$116,822.79
Walmart Stores, Incorporated	1,554	\$213.57	\$331,887.78
WD-40 Company	799	\$213.57	\$170,642.43
Zep, Incorporated	445	\$213.57	\$95,038.65

Total 33,195 7,089,456